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1. BREEROI
(1) #FEUNE
OEARMEERT 1,000 1,000
QZHEIERE 1,500,000| 1,500,000
QB HNE 21,826,000| 7,969,000 1,296,000 9,265,000 31,091,000
HBEIORELAEEFICLDIAMBMES| 11,802,000 11,802,000
AGH-ShRIRE| 9,262,000 9,262,000
NEEIEEINE| 1,800,000 1,800,000
TOAhINES 740,000 740,000
RIENECLIBIBEOBRERESE S| 9,574,000 9,574,000
AGH-ShRIIRE| 6,224,000 6,224,000
e DE 650,000 650,000
INEEIEEINE| 2,700,000 2,700,000
hiskDiEB AN S S DIREISE S 450,000 450,000
EIERNNES - ZEERUNES[ 450,000 450,000
BUBEAISADEEEE 7,969,000 7,969,000 7,969,000
EHREEE 1,296,000 1,296,000 1,296,000
@ EHBNEF 32,522,000 32,522,000
ZEHENE 28,722,000 28,722,000
SZEHREE 3,800,000 3,800,000
RBUNESET 54,348,000| 7,969,000 1,296,000 9,265,000 1,501,000(65,114,000
(2) REER
OBX£E
HBRFY 7,482,000( 1,182,000 681,000 1,863,000 9,345,000
BHE4LE 1,585,000/ 236,000 150,000 386,000 1,971,000
B BE 3,368,000 1,000 1,000 3,369,000
BEERE 516,000 39,000 5,000 44,000 560,000
RMEENE 690,000/ 400,000 400,000 1,090,000
SHIERE 448,000 135,000 4,000 139,000 587,000
FIRIAE 628,000 628,000
#a 6,899,000 6,899,000
X=E 11,639,000 11,639,000
HEE 5,278,000 5,278,000
i Tap = 4,093,000 4,093,000
B2E i 8,315,000 84,000 7,000 91,000 8,406,000
HEUKRIE 556,000/ 509,000 3,000 512,000 1,068,000
e 2,424,000( 942,000 23,000 965,000 3,389,000
BXE 216,000 216,000
ISR TIANG S 861,000/ 360,000 43,000 403,000 1,264,000
BeEIN=Fi{=kr 130,000 130,000
B8 997,000 18,000 18,000 1,015,000
HE 2,011,000 2,011,000
ERE 1,479,000 1,479,000
ZINFIE 76,000 11,000 1,000 12,000 88,000
ME 276,000 50,000 3,000 53,000 329,000
BHEER 59,967,000| 3,967,000 920,000 4,887,000 64,854,000
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EES IDES EoE S
QEEE
HBRFY 1,330,000/ 1,330,000
BHE4LE 274,000| 274,000
BEERE 13,000 13,000
SHIERE 9,000 9,000
B2E i 14,000 14,000
HEUKRIE 5,000 5,000
e 45,000 45,000
= 20,000 20,000
ISR STIANG S 16,000 16,000
BeEIN=F{=kr 25,000 25,000
ZINFIE 2,000 2,000
ME 105,000 105,000
EIRERT 1,858,000| 1,858,000
REERE 59,967,000| 3,967,000 920,000 4,887,000] 1,858,000(66,712,000
LHAR R IEREE| A 5,619,000( 4,002,000 376,000 4,378,000|A 357,000(A 1,598,000
2 FREIMEROED
(1) #REIMNES
REIMNESET
(2) RENEAR
RENERET
LHIRREIMEIRAR
fh=EHREEEE 4,000,000| A 3,700,000 A 300,000 A 4,000,000
LHA— AR IELRAAEEIEIRER| A 1,619,000 302,000 76,000 378,000/ A 357,000(A 1,598,000
—AZIERIAFE R E RS A 12,394,589(36,130,791 2,935,576 A 14,524,133 24,542,234|30,944,240(43,091,885
—AZIERRIAEERAR R = A 14,013,589(36,432,791 3,011,576 A 14,524,133 24,920,234|30,587,240(41,493,885
I IETFEIERREAEISROED
Y HAETE IEBRBAE I RE
IEEIERMEIRE RS 4,000,000 4,000,000
IEEIERBAERAR A S 4,000,000 4,000,000
I IERREAEERARIERS A 10,013,589(36,432,791 3,011,576 A 14,524,133 24,920,234|30,587,240(45,493,885




